इतेल/E-mail: gmbi.fci@gov.in दूरआप/Phone: 0612-2218727 फेक्स/Fax: 0612-2218225

भारतीय खाद्य जिन्हा



FOOD CORPORATION OF INDIA

क्षेत्रीय कार्यालय पटना Regional Office Patna

अरुणाचल भवन, तीखरा एवं चौंथा तल, एक्जीविशन रोड, **पटना - 800 001.** Arunachal Bhawan, 3rd & 4th Floor, Exhibition Road, **Patna - 800 001.** 

Ref. no. S&S-1(1)/OMSS(D)/State Govt./2019-20

Dated 28.03.2020

To,
Divisional Manager,
FCI, DO, Patna/Rohtas/Gaya/Bhagalpur/Saharsa
Jamui/Hajipur/Muzaffarpur/Motihari/Darbhanga

COVID-19 Pandemic e-Mail

Subject: Issue of wheat stock to the State Govt. of Bihar at OMSS (D) rate...reg.

Ref: The FCI Hqrs Sales division even letter no. No. J. 1(1)/ 2019-20/ OMSS (D)/BC/
S.III/Vol.III Dated: 25.03.2020 ,26.03.2020 & 27.03.2020

Sir,

Please refer to the subject and reference cited above.

As per FCI HQrs, New Delhi Sales division letter dated 25.03.2020 26.03.2020 as referred above, it is to apprise that the District Magistrate, of revenue district Patna / Nalanda /Bhojpur/Buxar/Bhagalpur/Kaimur/Rohtas/Gaya/Jehenabad/Banka/Shekhpura/Saran(Chapra)/Sitamarh i/Betiah /Darbhanga/Vaishali(Hajipur) has requested to provide allocation of wheat stock to their authorized wheat flour millers (Copy enclosed) so that the stock of wheat flour may be available in concern revenue district to cope up with difficult situation arised due to COVID-19 and lockdown.

Further to understand the critical situation and sensitivity, the matter has been discussed with the ED (Sales) FCI Hqrs, New Delhi regarding scarcity of wheat stock and subsequently request made by various District Magistrate to ensure availability of wheat stock at their concerned revenue districts so that the local administration may be able to provide sufficient wheat flour in the market through authorized millers. Also in light of the meeting with States/UTs on implementation of PMGKAY and maintenance of Essential Supplies on 27.03.2020; it has been decided to accept the request made by various District Magistrate and to ensure availability of wheat stock to the concern wheat flour millers, authorized by the State Govt. for the said purpose only. Accordingly, the revenue district wise approved quantity for sale of wheat FAQ to State Govt. authorized millers along with estimated cost is enclosed herewith.

Further, you are also advised to ensure on following points before issuance of Release order-

1. All the Divisional office shall be informed by the respective buyer mentioned as per list about deposition of the 100% cost at OMSS (D) rate indicated depotwise with transportation charge. Further the Divisional Managers shall subsequently confirm it from AGM(Account) FCI RO Patna to ensure confirmation of deposition of amount by concerned authorized miller for the quantity allotted in FCI Regional Office Patna, A/C having following details -

Name of Beneficiary:-

"FOOD CORPORATION OF INDIA"

Account No .:-

30569278830

IFSC Code-:-

SBIN0006379

Branch:

SBI,BAILEY ROAD,PATNA

- 2. Lifting period for the lifting of wheat is 15 (Fifteen) working days from the date of issuance of Release Order. (Subject to maximum admissible as per circular)
- 3. The State Govt. has to ensure about availability of trucks with their own arrangement at the concerned FCI depots and FCI shall not bear any extra transportation cost.

W

- 4. In case, FCI is unable to provide the full/part quantity from the FCI depot against the issued release order due to non-availability of stock or any operational constraints on the part of FCI, the shortfall in the quantity may be transferred by the concerned Divisional Manager from other neighboring depot(s) on the request of the State Govt. without any additional cost to FCI, subject to availability of wheat stock. The lifting position may be apprised to AGM (Movt.)FCI RO Patna for placing further requirement of wheat stock to FCI HQrs, New Delhi.
- 5. The Revenue district wise/ Mill wise separate account will be maintained for the quantity of wheat stock issued under OMSS (D).
- 6. Divisional Office will keep proper supervision for stock issued under OMSS (D) and provide a daily report on direct Sale of food grains sold to State Govt. and to buyers through State Govt. be emailed to Hqrs New Delhi in the attached proforma (ANNEXURE-II) under intimation to this office.

For reference purpose MTF for sale of wheat under OMSS(D) dated 26.03.2020 is also enclosed for reference.

In all case necessary health safety protocols including SOCIAL DISTANCE NORMS should be followed.

General Manager (R.)

## Copy to:

1. The Principle Secretory (Food), Government of Bihar, Patna.... for information and with request to kindly convey the approval to concerned miller authorized by concerned District Magistrates to further convey to respective millers/agency for deposition of cost as per sheet enclosed on the following account details only -

Name of Beneficiary:-"FOOD CORPORATION OF INDIA"

Account No.:- 30569278830 IFSC Code-:- SBIN0006379

BRANCH: SBI,BAILEY ROAD ,PATNA

- 2. District Magistrate, Revenue district, Patna/ Nalanda/ Bhojpur/ Buxar/ Kaimur/ Rohtas/ Gaya/ Bhagalpur/Saharsa/Jehenabad/Banka/Shekhpura/Saran (Chapra)/ Sitamarhi/ Betiah/ Darbhanga/ Vaishali(Hajipur)...Your request for issue of wheat stock in OMSS (D) has been accepted. Further it is requested to direct the authorized millers to approach the concerned FCI Divisional Offices for necessary action. The request for issue of wheat stock on weekly basis will be accepted and the same will be continued only after 100% lifting made by concern flour miller within given stipulated period mentioned in Release order. Further, it is also requested to keep close monitoring for the stock lifted from FCI depot at your level to avoid any complication in future.
- 3. The Executive Director (Sales), FCI HQrs New Delhi...for kind information please.
- 4. The Executive Director (East), FCI ZO Kolkata...for kind information please.
- 5. The GM (Movt) FCI Hqrs, New Delhi...for information with request to provide additional DIs for the OMSS which will be forwarded as per lifting status.
- 6. The Asst. Genl. Manager (Movt./Account/Storage/Contract) FCI, RO, Patna...for information and necessary action please.

General Manager (R)

Name of FCI District	Name of Revenue District		Required who	eat	Remarks/Letter	Contact person concerned FCI DO			
		Name of miller	Quantity approved for sale IN qtl	Name of FCI Depot	Reserve Price applicable /qtl	TOTAL COST in Rs.	nemarks/Letter	Contact person contenieu PCI DO	
	PATNA	M/S Gaurav Foods & Cool Conection pvt.ltd.	1300.00	FSD PHULWARI	2301.00	2991300.00	LETTER No-353 dated 28.03.2020		
		M/S Akansha Food pvt. ltd. Patna City	1300.00		2301.00	2991300.00			
		M/S Sambhunath Foods Product pvt.ltd.	1300.00		2301.00	2991300.00			
		M/S Pooja Foods Product pvt.ltd.	900.00		2301.00	2070900.00			
		M/S Ambe agro Industris .ltd.	1100.00		2301.00	2531100.00			
		M/S Bnke Bihari Foods Product pvt.ltd.	1300.00		2301.00	2991300.00			
		M/S Raj Enterprises Gaurichak	3000.00		2301.00	6903000.00			
		M/S RB Foods Product pvt.ltd.	500.00		2301.00	1150500.00			
		M/S Nilkanth Agro Foods Product pvt.ltd.	600.00		2301.00	1380600.00			
		M/S OM Sai Foods Product pvt.ltd.	300.00		2301.00	690300.00			
		M/S Danpur Flour mills .ltd.	800.00		2301.00	1840800.00			
PATNA		M/S Gupta Nutrition pvt.ltd.	800.00		2301.00	1840800.00		SHRI RAJEEV KUMAR-Mob.No-9430935016	
		Vulganga Enterprises Pvt.LTD	100.00	1	2301.00	230100.00		_	
		Grand Total	13300.00			30603300.00			
	NALANDA	OM Prakash Roller Flour Mills Pvt. Ltd	4500.00	- FSD MOKAMA	2301.00	10354500.00	LETTER No-346 dated 27.03.2020		
		Maa Bhagvati Mini Flour Mills	800.00		2301.00	1840800.00			
		Shiv shakti Mini Flour Mill	800.00		2301.00	1840800.00			
		Pankashi Roller Flour Industries	800.00		2301.00	1840800.00			
		Grand Total	6900.00			15876900.00			
	BHOJPUR	Maruti Nandan Food Products Pvt. Ltd.	7500.00	BSWC ARA	2321.00	17407500.00	LETTER No-969 dated 27.03.2020		
		Maruti Nandan Milling Solution Pvt. Ltd.	7500.00		2321.00	17407500.00			
		Grand Total	15000.00			34815000.00			
	BUXAR	M/S Baruna Enterprises	900.00	FSD BUXAR	2291.00	2061900.00	LETTER No-04-459 dated 27.03.2020		
		M/S RCP Flour Mills	900.00		2291.00	2061900.00			
		M/S Maa Ganga Grih Udyog	500.00		2291.00	1145500.00			
		Sonhar Dev Flour Mill	900.00		2291.00	2061900.00			
		Grand Total				7331200.00			
	KAIMUR (BHABHUA)	M/S Surbhi Wheat Product pvt.ltd.	5000.00	PEG MOHANIA	2319.00	11595000.00	LETTER No-462 dated 27.03.2020		
		M/S Gusgir aata chakki Mill	500.00		2319.00	1159500.00			
SASARAM (ROHTAS)		M/S Maa Flour Mill	200.00		2319.00	463800.00			
		Grand Total	5700.00			13218300.00			
	ROHTAS	M/S Sasaram Food Industries Pvt.Ltd	500.00	SWC SASARAM	2319.00	1159500.00	LETTER No-328 dated 27.03.2020		
		M/S Jai Mata Dee Mini Rice Mill	300.00		2319.00	695700.00			
		M/S Durga Sattu Chura Udyog	100.00		2319.00	231900.00			
		Sri Laxmai Chura Udyog	100.00		2319.00	231900.00			
		Maa Chinnamasta Food Proccessor Pvt Ltd	12500.00		2319.00	28987500.00			
		Grand Total	13500.00			31306500.00			

		Raj kumar Atta Mill	100.00		2301.00	230100.00			
		Lakshmi oil and Atta Mill	2000.00	1	2301.00	4602000.00			
		sujit atta mill	200.00	1	2301.00	460200.00			
	GAYA	M/S Vishnu Atta Chakki	800.00	FSD GAYA	2301.00	1840800.00	LETTER No-265 dated 27.03.2020	SHRI HIMANSHU SHEKHAR SAHOO -9955997025	
		Jai Maa Kali Mini Atta Mill	600.00		2301.00	1380600.00			
		Shri Durga Roller Atta Mill	7500.00		2301.00	17257500.00			
		Bittu Kumar Atta Chhaki	100.00		2301.00	230100.00			
		Anup Kumar Atta Chakki	100.00		2301.00	230100.00			
		Vishnu Bhog Flour Mill	2200.00		2301.00	5062200.00			
		Shiv Shankar Bhog Atta Mills	800.00		2301.00	1840800.00			
		New Jay Mata Dee Atta Mills	1500.00		2301.00	3451500.00			
GAYA		Jagdambaa Enterprises	1500.00		2301.00	3451500.00			
GATA		M/S Bismila Food Products	2200.00		2301.00	5062200.00			
		13 Bhog Mini Atta Mills	800.00		2301.00	1840800.00			
		Sri Sai Atta Mill	2200.00		2301.00	5062200.00			
		Sitaram Atta Mill	800.00		2301.00	1840800.00			
		Krishna Atta Chakki	1500.00		2301.00	3451500.00			
		Shankar Bhog Atta Chakki	800.00		2301.00	1840800.00			
		Chandragupt Atta Chakki	800.00		2301.00	1840800.00			
		Maya foods Industrial Area	3000.00		2301.00	6903000.00			
		Grand Total	29500.00			67879500.00			
	JEHANABAD	Sun Food Industries	500.00	- SWC JEHANABAD -	2329.00	1164500.00			
		Maa Durga Atta Mill	200.00		2329.00	465800.00			
		Grand Total	700.00			1630300.00	LETTER No-140 dated 27.03.2020		
BHAGALPUR	BANKA	M/S Minakshi Food Product	1400.00	SWC NAUGACHIA	2356.00	3298400.00	LETTER No-164 dated 27.03.2020	SHRI PRATYUSH KR.SINHA -9955996948	
	BHAGALPUR	Jodhani Foods Pvt Ltd	4900.00		2356.00	11544400.00	LETTER No-305 dated 28.03.2020		
		Hira Traders	100.00	ARDC JAMUI	2335.00	233500.00	LETTER No-140 dated 27.03.2020	SHRI JYOTI PRAKSH -9771415978	
JAMUI	SHEKHPURA	Ranjeet Sav	200.00		2335.00	467000.00			
		Gupta & Sons Mill	100.00		2335.00	233500.00			
	1	Grand Total	400.00			934000.00			
	SARAN(CHAPRA)	Saran Flour Mill	3000.00	SWC CHAPRA	2320.00	6960000.00	LETTER No-262 dated 27.03.2020	SHRI BRAJESH KUMAR-9110034065	
		Amar Roller Flour Mill	3000.00		2320.00	6960000.00			
		S.R Flour Mill	400.00		2320.00	928000.00			
		Amrit Flour Mill	500.00		2320.00	1160000.00			
		Makhan Bhog	400.00		2320.00	928000.00			
HAJIPUR		Rudra Agro Traders	800.00		2320.00	1856000.00			
		Shiv Shankar Parvati	300.00		2320.00	696000.00			
		Keshav Flour Mill	400.00		2320.00	928000.00			
		M/S Hansraj Trading	500.00		2320.00	1160000.00			
		Sagun Bhog Ata	300.00		2320.00	696000.00			
		Shri Maa Tulsi Bhog	300.00		2320.00	696000.00			
		Shiv Bhog Ata	400.00		2320.00	928000.00			
		Santusti Bhog Ata	800.00		2320.00	1856000.00			
		Govind Bhog	1100.00	1	2320.00	2552000.00			
	Grand Total 1220		12200.00			28304000.00			

						0.515000		
		Jagat Jagdamba Flour Pvt Ltd	1500.00	4	2301.00	3451500.00		
	VAISHALI(HAJIPUR)	L. V. Enterprises	900.00	FSD PHULWARI	2301.00	2070900.00	LETTER No-02 dated 27.03.2020	SHRI RAJEEV KUMAR-Mob.No-9430935016
		Hazipur Roller Flour Mill	3700.00		2301.00	8513700.00		
		River Valley Flour Mill	3700.00		2301.00	8513700.00		
		Tarangni Roller Flour Mill	3700.00		2301.00	8513700.00		
		Krishna Agro Food Industries	900.00	1	2301.00	2070900.00		
	Grand Total		14400.00			33134400.00		
		Shankar Enterprises	1500.00		2329.00	3493500.00		
	SITAMARHI	J A Udhoyag Pvt. Ltd	1200.00	FSD NRPA	2329.00	2794800.00	LETTER No-305 dated 27.03.2020	SHRI ANSHU SHARMA-9955996895
		S H Food Products	3000.00		2329.00	6987000.00		
		Lakshmi Flour Mill	1000.00		2329.00	2329000.00		
		D K Food Product	800.00		2329.00	1863200.00		
		Grand Total	7500.00			17467500.00		
		Balaji Industrial Mill	500.00		2329.00	1164500.00		
	BETTTIAH	Mahaveer Flour Mills	900.00	PEG BETIAH	2329.00	2096100.00	LETTER No-252 dated 27.03.2020	SHRI R.N.JANBANDHU-9175489700
		Byahut Udyog	250.00		2329.00	582250.00		
		Champaran Flour Mill	500.00		2329.00	1164500.00		
		Prakash Industries	500.00	1	2329.00	1164500.00		
		Grand Total	2700.00	1		6171850.00		
		Mithila Flour Mill	1900.00		2319.00	4406100.00		
DARBHANGA	DARBHANGA	Sita Flour Mills	1900.00	FSD DARBHANGA	2319.00	4406100.00	LETTER No-346 dated 27.03.2020	SHRI S.K.SUMAN-9955996983
		Darbhanga Flour Mills	1900.00		2319.00	4406100.00		
	Grand Total		5600.00	1		13218300.00		
SAHARSA	SAHARSA	ARJUN KUMAR	900.00	FSD SAHARSA	2328.00	2095200.00	LETTER No-187 dated 27.03.2020	
			137800.00					